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1 Translate the following English into Japanese. (D3 CEFofi Lz, )
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Hi# : Steven W, Smith
[The Scientist and Engineer’s Guide te Digital Signal Processing |
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L Choose four items from the following, and explain each in about 150 wards,

(1) Machine learning

(2) Deep learning

(3} Virtual reality

(4) Blockchain

{5) Dark web

{6) Nyquist frequency

(7) Object-oriented programming
(8) Cloud computing

II. Suppose the initial arrayis (4, 1, 3, 2). The array is sorted with insertion sort as following steps:

(1, 4, 3, 9
(1, 3, 4, 2
{1 2, 3 4

Answer the following questions.
(1)} Provide a brief explanation about insertion sort.
(2) Suppose the initial array is (3, 7, 4, 8, 5, 2, 6, 1).

Show the steps for sorting the array with insertion soxt.
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